Lesson 2-3: Solve Multi-Step Equations

10.

Sample answer: | can use the
Distributive Property to simplify an
expression and combine like terms.

Sample answer: Combine the like
terms 3x and -5x or use the
Distributive Property on the left side
of the equation.

Sample answer: The order of
operations says to multiply before
subtracting. You have to multiply by
7 before you can subtract the x from
7X.
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x=-0.9
xX=7
m = 9; Sample answer: You have to

multiply each term inside the
parentheses by 2.
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